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e = KM10-2PA KM20-2PA KM25-2PA KM40-2PA
H AW 100 200 250 400
= E (V) 200 200 200 200
= EANON) 0.60 1.10 1.20 2.10
A B B () 50/60 50/60 50/60 50/60
B B (H 47.5/57.5 475/57.5 47.5/57.5 475/57.5
B0 50/60Hz Nike) 0.98/1.42 1.96/2.84 2.45/353 3.92/5.69
EAEKY\—IRE  (mm) 20~32 32~45 32~45 45~6.0
B 4 &K I~ (mm) 12 12 12 16
& g (ke 7.9 1.0 146 5.7
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e = FUH-550 FUH-750
H A W) 550 750
= E (V) 48 48
= #(A 125 17
A B B (H 200/240 200/240
Lo 8 P 4 4
% B M HveM)| 100/120(6000/7200) | 100/120(6000/7200)
& B (ke 165 20.7
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B 2t B | IREEHz IRFAIEEEDS kN (kef)
(Hz) (V.P.M) 1 o) 3 4 5 8
200 | o0y | (800) | 690) | (86 | @60) | 348) | (Gio)
FUH-550(S)
40 120 | 113 | 98 8.0 65 48 29
(7200) | (1150) | (1000) | (815) | (660) | (490) | (300)
200 (6100000) (1]1]?%) (1%190) (gé]O) (5765) (gé%) (33i15)
FUH-750(S)
40 120 | 165 | 143 | 117 | 95 95 45
(7200) | (1680) | (1460) | (1195) | (970) | (720) | (455)




